3.1 Zapotrzebowanie ciepla
pom. 0,1 + 16 Q = 1231 x 50 x 125 x 0,8 x 1,15 = 710+ 210 = 920w
pom. 02 + 20 Q = 3,18 x 50 x 1,25 x 1,0 x 1,30 = 260+ 80 = 340w
pom. 03 +20 Q = 52,57 x 50 x 1,25 x 1,0 x 0,80 =2630+ 790 = 3420 w :
pom. 0.4 +20 Q = 29,87 x 50 x 125 x 1,0 x 0,90 =1680+ 500 = 2180w
pom. 05 + 20 Q = 30,19 x 50 x 125 x 1,0 x 0,80= 1510+ 450 = 1960 w
pom. 0.6 +20 Q = 1032 x 50 x 1,25 x 1,0 x 1,3 = 840+ 250 = 1090 w
pom. 0,7 +24 Q = 2,76 x 50 x 125 x 125x 13 = 280+ 80 = 360w
pom. 0.8 +16 Q = 1941 x 50 x 125 x 0,8 x 1,0 = 970+ 290 = 1260 w
pom. 0,9 +20 Q = 6,36 x 50 x 125 x 1,0 x 1,3 = 520+ 150 = 670w
pom. 0,10+ 20 Q = 1025 x 50 x 1,25 x 1,0 x 1,3 = 290+ 90 = 380w
pom. 0,11+ 20 Q = 1595 x 50 x 125 x 1,0 x 1,3 = 830+ 250 = 1080 w
pom. 0,12+ 20 Q = 16,58 x 50 Lo x 1,0 = 1040+ 310 = 1350 w
pom. 0,13+ 24 Q = 10,35 x 50 x 1,25 x 1,25x 13 = 1050+ 320 = 1370w
pom. 0,14+ 24 Q = 10,64 x 50 1,25% 1,3 = 1080+ 320 = 1400 w
pom. 0,15+ 20 Q = 16,58 x 50 1,0 x 1,0 = 1040+ 310 = 1350 w
pom. 0,16+ 16 Q = 299,14 x 50 x 1,25 x 0,8 x 0,8 =11970+ 3590 = 15560 w
Razem 34690 w
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W zapotrzebowaniu ciepta, uwzglednione jest ciepto dla wentylacji w ilosci

n=],5w/h.

3.2 Zapotrzebowanie grzejnikow
pom. 0.1 Q=920w CI1-60 L =700 szt.1
pom. 0.2 Q=340w CI1-45 L =400 szt.1

pom. 03 Q=3420w Cl11-60 L =900
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pom. 0.4 Q=2180w Cl11-60 L=000 8712

pom. 0.5 Q=1960w CI11-60 L =900 szt.2




